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QUESTION 1

Which URL is used to verify that Cisco CWS is working as configured? 

A. http://whoami.scansafe.net/ 

B. http://whoami.cws.net/ 

C. http://verify.scansafe.net/ 

D. http://verify.cws.net/ 

Correct Answer: A 

 

QUESTION 2

Why has visibility into network applications become a problem for IT? 

A. IT has no tools that can look inside an Ethernet packet. 

B. New protocols are being used. 

C. HTTP has become the primary transport protocol for most applications. 

D. Visibility into applications is not an issue. 

Correct Answer: C 

 

QUESTION 3

Which type of application recognition and performance monitoring does the AVC feature enable? 

A. third-party 

B. software 

C. hardware 

D. virtual appliance 

Correct Answer: B 

 

QUESTION 4

Which route is needed in the global table for internal users to access the Internet? 

A. route to the service provider 

B. route to the internal DNS server 



C. default route 

D. static route to Internet web sites 

Correct Answer: C 

 

QUESTION 5

Which two are components of Cisco PfR? (Choose two.) 

A. master controller 

B. master browser 

C. border router 

D. edge router 

E. area of service 

Correct Answer: AC 

 

QUESTION 6

What can you use to create a dynamic spoke-to-spoke tunnel in Cisco IWAN? 

A. DMVPN 

B. L2TP 

C. GETVPN 

D. FlexVPN 

Correct Answer: A 

 

QUESTION 7

Which set of actions is an element of QoS? 

A. sorting and packing 

B. classification and queuing 

C. queuing and tracking 

D. dropping and classification 

Correct Answer: B 

 



QUESTION 8

Which unique feature of TrustSec is used for end-to-end security policy control? 

A. zoning 

B. mapping 

C. masking 

D. tagging 

Correct Answer: D 

 

QUESTION 9

Which option can enhance traditional IP routing so that you can improve application performance on the WAN while
increasing bandwidth efficiency? 

A. Cisco PfR 

B. Cisco NCE 

C. NBAR 

D. OLSR 

Correct Answer: A 

 

QUESTION 10

What are the two simplest methods to give guest users access to the Internet? (Choose two.) 

A. public DNS service 

B. Cisco CWS tower 

C. private DNS service 

D. private CWS tower 

E. FVRF for guest UIs 

Correct Answer: AE 

 

QUESTION 11

Why are application acceleration and bandwidth re-education key functions in the Cisco IWAN design? 

A. to sell more Cisco WAAS appliances 



B. to provide a higher level of application performance for mission-critical applications 

C. to enable independence of the transport overlay 

D. to ensure that voice calls are of the highest quality 

Correct Answer: B 

 

QUESTION 12

Which option is a primary management tool for Cisco IWAN? 

A. Cisco Prime Infrastructure 

B. CiscoWorks 

C. Microsoft System Center 

D. NetScout nGeniusONE 

Correct Answer: A 
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